
� GSA003 Issue 2  12/04/17

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
01284 757500 01284 703534 sales@sealey.co.uk www.sealey.co.uk

Parts Information:
Air Palm Orbital Sander Ø75mm
Model No: GSA003

Item Part No. Description

1 GSA003.01 HOUSING
2 GSA003.02 HOUSING COVER
3 GSA003.03 TRIGGER
4 GSA003.04 STRAIGHT PIN
5 GSA003.05 SNAP RING
6 GSA003.06 O-RING (3x1.5)
7 GSA003.07 PIN
8 GSA003.08 O-RING (9.5x1.8)
9 GSA003.09 VALVE KNOB
10 GSA003.10 SWITCH VALVE RING
11 GSA003.11 SWITCH VALVE
12 GSA003.12 SPRING
13 GSA003.13 BUSHING
14 GSA003.14 AIR INLET CONNECTOR
15 GSA003.15 DRIVE SHAFT
16 GSA003.16 WOODRUFF KEY (3x5x13)
17 GSA003.17 LOCK NUT
18 B/6001ZZ BEARING 6001ZZ
19 GSA003.19 STRAIGHT PIN (2.5x6)
20 GSA003.20 FRONT CYLINDER HEAD
21 GSA003.21 O-RING (38x1.5)

Item Part No. Description

22 GSA003.22 CYLINDER
23 GSA003.23 O-RING
24 GSA003.24 STRAIGHT PIN (3x28)
25 GSA003.25 ROTOR
26 GSA003.26 ROTOR BLADE
27 GSA003.27 REAR CYLINDER HEAD
28 B/6000ZZ BEARING 6000ZZ
29 GSA003.29 SNAP RING
30 GSA003.30 E-RING
31 GSA003.31 SEALING RING
32 GSA003.32 V-GASKET
33 GSA003.33 RETAINING RING
34 GSA003.34 BALANCING SHAFT
35 GSA003.35 O-RING (15x1.8)
36 GSA003.36 MUFFLER CONNECTOR
37 GSA003.37 MUFFLER FILTER
38 GSA003.38 MUFFLER COVER
39 GSA003.39 WRENCH
40 GSA003.40 DUST COLLECTION BAG
41 GSA003.41 3" PAD 5/16"UNF
42 B/6900ZZ BEARING 6900ZZ


